Warm Up g

Evaluate the following limits, if they exist:
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Questions from Homework

@3) b (X=D(F D
¥ (x-(X )

:: ( X 63;@

®a) hm (‘hh’f -eH
* hweo n
o (@9)- ) 4444 4-\6\
o h

hen KA+ 4@ +6 ) _
i, Kloao0w). fi
Oy lom -\-:_h "T D = (1+h)
W T n
Ywn L lab
14+
>0 "
/ % |-l-
‘c.;“o'._%h "
h
\‘ :5_ . s_-\— =
h‘:) Wh X T Wy El
b oL 1 onT 0o 46aT
0 g_%h "y
\\m _ > g/D‘“';;n“ oleS
wo ety
ben (2- + (4h)
o Hn(4n

bwn (3-2-h)3+34R)
™o

\““ (- \-\-\-h = :ﬂ- d -
g b T



The common sense definition of a limit...

When does a limit exist?
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http://www.calculus-help.com/funstuff/tutorials/limits/limit02.html

Use the graph shown below to evaluate the following limits:
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Evaluate each of the following:
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